ERIOFEE SFARETHIE AR BREETFE @WHEFTERODEK)
1 A (HAL FH)
P54 | H FHIERTOKE | #HIERE FHIET OFA B G
Vg | 1 G | 1 e 767 0 767 ggﬁgﬁ (Bl A2
ofs | 1M | 1 ame 8.778| A 4,000 4, T78| B TIEAT £ 41
Sl | 1 Ml | 1 AREe 1,197 0 1, 197 [ SRk 294F 5 ik 4>
AFEIN | TREIN [ 1HEA 0 0 0
AL 10,742| A 4,000 6, 742
2wk (HAL FM)
P58 | H FHIERTOKE | #HIERE FHIET OFA B, G
1 8E | 125t 350 0 350| =ik A AR B
1 JH e
2HGHE | 1 FHE 38 0 38| HHS iy, EES (LA
o st | 1Rt | 1 T 0,157 A 4,000 5, 157|FHHit: d TR
3T | 1 TEE | 1 e 1,197 0 1,197
AR 10,742| A 4,000 6, 742
SR TR ORE L. WIS 5 - LA TX 5,




ERIOEE SGARATHE AT BEEZTE
L_BA (fr T1)
5 TEEE | B TEE | 3 =
ik H H (A) (B) (A—B) it g
- A F
L | 1 e | 1 e 767 3.262| A 2,495 %g@)ﬂﬁ (Hl ok 23 322
2H4 | 1AHE | 1AHE 8,778 3,262 5, 516|750 JFHT £ $H 4>
SRS | 1 MBS | 1 ARG 1,197 5 1, 192 R 294F F il 4>
AFEINA | 1REINA | 1 HEA 0 0 0
AEF 10, 742 6, 529 4,213
2 (B TH)
5 TEEE | BifETEE | 3 =
ik H H (A) (B) (A—B) it "
183% | 1 8% 350 800 A A50|4 EBRERR
1 e 2
QHEBE | 1 HEHE 38 29 | H Ly, BsRE
. . . ?VV]@@@ &L T
STIHE | 1 TiHE | 1 TiHE 1,197 0 1,197
WA E 10, 742 6, 529 4,213




FR2ERE A RAT I 3

RBRBINRES

1 WA (AL M)
5 T HEAAE I A5 %R e =
1404 | 1 AEBnS | 14804 | 3,262,000] 1,950,000 A 1,312,000
offad | 1ais | 1aMme | 3,262,000 3 262 000 0 R A4
3 A | 1Rk | 1 g 5,000 232,460 297, 460
AFEILA | 1EEIA | 1A 0 20 20
AR 6,529 000 5. 444,480 A 1,084,520
2 (AL M)
5 THEAAE B | 3 =
AR 4,730
v | 1o | 1o | 800,000 176,570 623,430 2 112,000
A E 8, 260
ZEIRE 51, 580
T {5 f) 19, 892
o EBT | 1 HH 29. 000 20, 756 8. 244 . ’
” ” HEA TFHOR 864
oty | 1y | 132y | 5,700,000] 4,050,000 1,650,000
STE | 1 TIHE| 1 PIiHE 0 0 0
BEHIA R 6,529 000 4. 247,326 2 281 674
LA 5 444, 480 [
K 4. 247,326 [

X251 %8

1,197,154 [ (FRR304EBE~ikilk)




